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( )1.What does the man want the woman to do?

A.He wants the woman to walk with him in the country.
B.He wants the woman 1o work with him in the country.

C.He wants the woman 1o have a word with him in the country.

( )2.Whal are they seeing now?
A Light. B. Night. C. Might.
( )3.How much does the man wanl to borrow?
' A% 15, B.% 50. C. § 30.
( 4. At what time does the man think they 1l leave?
A.8:30. B.8:13. C.8:38.
{ 5. What do we leamn from the conversation?

A . The horses ate $ 2,000 in food.
B.The house was $ 2,000.
C.The horse was $ 2,000,

RS HEMERABREFBREE,

( )1, What's the question of the man?
A.Has everybody got the present?
B.1s everyone absent?

C.ls evervone here today?

( }2. What does" present” mean in this conversation?
A.Gift. B.Hand in. C.Take away.
( )3. What does the man mean?

A.He is good at note-taking.
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B.He is a good student,
C.He has a good recorder.
( 14. What does the man mean?
A. He stayed with the children at home.
B. He took all the children 1o the zoo.

(. He didn’1 take the children to the zo0.

( )5. What does the woman mean?
A She is surprised. B.He should do well.
(=)
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{ )1.How did the woman get the new shoes?
A She bought them.
B. Her aunt gave them to her.
C.She got them from abroad.
( 2. When will the woman take history exam?
A Tuesday. B. Thursday .
( 3. Which is not included in the bag”
' A Book. B. Wallet .
( }4. What color is the coal that the man is looking for?
A. Black. B. Grey.
( )5.Who got “C” in the exam?
AL Kate. B. Tom.
-
UTSRE B S A B SR T RS .
( Y. What is the relationship between the speakers?

A Theyv are lMends.
B.They are boss and secretary.
C.'They are customer and saleswoman .
( )2, What is the relationship between the speakers?
A. Thev are friends.
B. They are patient and doctor.
(.. They are wife and husband.
( )3. Who is the woman?
AL A clerk in the bank.
B. A clerk in the post office.

C. He should sav well.

C. Next Monday .

. Pen.

C. Brown.

C. Jean.
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C. A waitress in the reslaurant
i 34 What is the relationship between the speakens?
AL Wife and husband.

B. Teacher and student.

C. Boss and secretary.

t 15. Who is Tom likely to be?

AL A musician. B. An actor.
[

i

{ 31, Where did the conversation most probably take place?
A. In teacher’ s office. B.In the class.

( )2. Where did the conversation most probably take place?
A. At a bookstore, B.In the class.

{ )3, Where is Tom going?”

A To the teacher” s office,

B.To the class.

€. To the manager' s office,
( 14, Where 15 Tom?

A n the class. B.On the play ground.
( )5. Where is Tom?

A.In teacher's office. B.In the class.

[
P

( 3. When will the woman arrive in Shanghai?

AL One day later. B. Two days later.
{ 12 How old 1= the woman' s school now”

A Three vears old. B.50 vears old.
( 13 What can we leam [rom the conversation”

A.The woman finished her experiment earlier than Tom.

B. The woman finished her experiment tater than Tom.

C.The woman finished her experiment as early as Tom.
{ 4. What did the man do at last?

A.To go 1o Brilain.

B.To visit his aunt.

C.To stay in the L.3.A.

C. A student.

C.In the librarv.

C.In the library.

C.To buy a book .

C.In the lab.

NGLISH

C. Three days later.

(.53 vears old.

14
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( )5 . What did the man do fimst after he saw the movie?
A, He went shopping. B.He went back home. C.He had a walk.

(&)
(FRE EE ST RENTEERFEEL RS

( }1. How long will Mary stay in the library?
A.6 hours. B.9 hours. C.3 hours.
( 12, When will the plane arrive?
A.7:00. B.6:30. €.7:30.
( 13, How much time does the woman have to wait?
A 50 minutes. B.1 hour. C.90 minutes.
{ 4. When will they meet?
A5 o eloek. B.5:15. €.5:50.
( 5. How much time will it take i she goes to school in rush hours?
A Half an hour. B. 15 minutes. C.45 minites.
(™)

FRE BEFSANSTSSERETREE,
A 11. What did he woman’ s father think of the car?

A He likes it.
B. He dislikes ir.
C.He wanls to have a new car.

( 12. What does the man mean'?
A lle doesn ™t undemstand the woman.
B. He doesn’t know where the post office is.
(.. He doesn’ 1 speak English.

( )3. What" s the man's response to the woman
A.He doesn't know the new student,
B. He doesn’t like the new student.
(.. He thinks the new student is shy.

({ 34 . What can we leam from the conversation?
A.Tom is angrv with them.
B.Tom has inviled them to dinner.
(2. The woman is angry with Tom.

( )5. How did the man respond to the woman”
A.He didn"t know he stepped on her foot .
B.He made an apology to her.

Y
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C.He asked the woman to help him.

()

IS REWEASEERESE.

(
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What does the man suggest that the woman should do?
A . She should read the composition again.
B. She should rewrite the composition.

C. She should improve the composition.

.How is the man feel when he speaks English in class?

A, He is calm.

B. He is happy.

.What does the man advise Helen 1o do?

A.To leave John alone. B. To punish John,

. How is the man today?

A He is very sick.

A.The woman’s father’s.
B.The woman’s mother’ s.

C.The man’s father’s.

i)

T3 REMSALIT VSHNLEERESE.

(
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4.

What is the woman going 1o do?
A.To call the man.
B.To finish her assignment.

C.To help the woman with her assignment.

.What may the man probably do?

A.To visit the factory.
B.To make another call later.

C.To wait half an hour 1o see Mr.Black.

.What is the man going to do?

A.He is going to the library.

B. He is going 1o the lecture.

C.He is going to ask the woman to go with him.
What did the man plan to do?

A. He planned to tell Tom something.

B. He planned to help Tom with his study.

C. He planned to ask Tom to help him.

- 5 =

B.He must lie in bed.

. Whaose eyes does the woman’ s eves resemble?

C.He is afraid.

C.To forgive John.

C. He is better.

i
:gn)

NGLISH
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{ }5 . What does the woman want to do?
A.To go to the office right away.
B.To have lunch first.

C.To have a rest.

(+—)
FRB AEATNLRAFIAR LIS,
( 11. Who is the tallest?
A, Mary. B. The woman. C.Susan.
{ )2. What do we learn from the conversation?

A.The man likes the bicycle as much as Bob,
B.The man likes the bicyele better than Bob.
C. Bob likes the bicycle better than the man.

{ }3. Which hospital is bigger?
A . This hospital .
B.The hospital built last year.
C.They are as big as each other.

( 14 . What can we leam from the conversation”
A.The woman's room is better than the man’s.
B.The man’s room is betler than the woman’s.

ol . ¥
(.. The woman's room is the same as the man’s.

( }5. How does the man’s coat compare to his brother”s?
A. Smaller. B. Larger. C. Shorter.
(=)

RS REASHERAFLEEREE.

( )1.Why can’t the woman go on holiday?
A.She doesn’t like 1o,
B.She has to find a job.
C.She will be busy with her job.

( 12. Why does Cindy know much sbout animals?
A. Because she has a fam.
B.Because she stayed a long time on the farm.
(. Because she likes animals.

({ }3. Why was Ellen absent from class today?

A . Because she went on a picnic. -
B. Because she caught a cold.
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C. Because she hadn™t come back vyet.
( }4. Why didn’ t the man go to meet his aunt?
A. Because his aunt couldn't come.
B. Because the flight was cancelled.
C. Because he wanted to visit her.
( 5. Why did father go to work on foot this moming?
A. Because he got up earlier.
B.Because he couldn’t use his car.

C. Because he liked 10 walk.

:
i

FTRE BEABMFIT R ALE HIRE %,
( J1. What is the woman going lo do?
A.She is going to ask for enough money from her mother.
B.She is going to have a picnic.
C.She is not going to have a picnic.
( )2. Will the man lend the dictionary lo the woman?
A.Yes, he will.
B.No,he won’t.
C.Yes,if the woman returns to him by 4:00 p.m.
( }3. What' s true about the man?
A. He will hurry up. B.He'll be late. C.He'll not be late.
( )4, What do we leamn from this conversation?
A.The woman will lend some monev to the man.
B.The man can buy the car at once.
(.. The man hasn’t enough money lo buy a car.
( )5. Why will the woman go shopping?
A . The man’s sister will come with her.
B.She has no work the next day.

C.She promised herself.

Z IR AXIE, EEEE,
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( }1.When is Tom going 1o help Wang Hua with her English?

A. This evening. B.This moming. C. Tomorrow evening.
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{ }2.What’s the weather like today?

A.It"s very hot. B.It"s very cold. C.It’s very wamn.
{ }3. Why does Mike like winter best?

A. Because the nights are longer.

B. Because the ground is white.

C. Because he enjoys skating.

( )4 . What’ s wrong with the woman’ s pencil?
A I s new. B.1i"s old. C.1t" s broken.
(=)

( }1. Which of the following is true about the two speakers?
A.They haven’t seen cach other before.
B.They are good friends.

(.. They are in the same class.

{ )2. Who was in the same class with Tom?
A.The man speaker., B.The woman speaker. C.The man’s brother.
¢ 3. Why does the man know the woman?

A . Because they are in the same school.
' B. Because he heard her talk.

C. Because the man is famous.

( }4. Whom did the boy spend his summer vacation with?
A.His parents. B. His bmthers. C. His grandparents.
(=)
( )1.What does the woman want the man to do?

A.She wants the man to see a film with her.
B, She wants the man to play basketball .
C. She wants the man to play.

( }2. Who is not good at English?

A . The girl. B. The boy. C.The girl s brother.
( 3. Where is Jim going?

A.To the shops. B.To the parks. . To the hospital .
( )4. When did Mary have a travel in China?

A . Two months ago.
B. During her summer holiday .

€. During her winter holiday .
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- What subject does Hunt teach?
A Chemistry . B. Bivlogy.
.Where's Lin Fang now?
A.In China. B.In England.
. How did the woman come back?
A . By bus. B. By bike.

.Who' s doing an experiment in the lah?

AL Mr. Baker is. B.Mrs. Baker is.
A&

How oid is Xiao 117

ALl13. B.14.

.What" s the young man'/

A.He's a worker.

. What s the time now?

A.8:45. B.8:15.

. What happered to Tom’s hike?

ATt is broken.
B.There s nothing wrong with it.

C. There’ s something wrong with it

i)

. What does the woman suggest the man do?

A.Talking with her in English.
B. Catching up with her in English.

C. Doing more listening and speaking.

. What do we leam about the man’ s watch?

A.It' s 5 minutes fast.
B.1's 5 minutes slow.
C.I"s 10 minutes slow,
What does Jack plan 1o do?

A Stay home.

.How much does the camera cost?

A.§ 30.5. B.§ 30.

= 0

B.He's a teacher.

B. Move to a city.

C. Physics.

C.In America.

C. By taxi.

C. Miss Baker is,

C.15.

C.He's a doctor.

(. Travel abroad.

€. 3 50.5.

R T

=}
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. What"s the relationship{ K23 between the two speakers?

A Father and son .
B. Mother and son.

(C. Teacher and student.

. What is Paul doing?

A. Getting the cakes,
B. Bringing the drinks.
(. Picking up the children.

. What happened in the woman”s house?

A.One of the windows was broken open.
B.She had some monev stolen.

C. A thief broke into the garden.

. Where did the man see the woman ofl”

A. At the hotel,
B. At the airport,

(.. At the railway station.

[~

. Why does the soup taste terrible?

A . Because the girl put much cooking oil in it.
B. Because the girl pui some vinegar in it.

C. Because the girl put some castor oil in it.

- What do they plant trees for in spring?

A . They need much wood to build houses.
B.They hope to stop the wind blowing the earth away.

(.. They hope to pick more fruit in future.

.How did the girl” s brother go abroad?

A. By plane. B. By ship.

. When is Miss King preparing breakfast”

A After she got up this moming.
B. Before she has supper.

C. After she had supper today.
-
When can the hook he borrowed?”?

— 10 =

C.ln a car.




4.

)1

)2.

)3,

4.

)3.

4

A.In June. B.In July.

.How much does the handkerchief cost?

A. % 21.50. B.% 16.00.

.Why is Barbara free to help with he experiment?

A Because she has already heard the lecture.
B. Because she can use Cathy's notes later.
C. Because Cathy will give the lecture instead.
What does the woman mean?

A She could nn]y gel one ticket .

B. The concert slarts at eight.

C.They won's be able 10 sit together.

(41

. What does the woman mean?

A . She has read the book.

B.She hasn’t read the book.

C. She doesn’t like the book.

When does the corversation most probably take place?
A.In the evening. B. At noon.
What does the man mean”

A, The old bike isn’t worth repairing.

B. He can repair the bike himself.

C.The new bike is very cheap.

Where are the English teachers meeting?
A.In the teachers’ office.

B.In the meeting-room.

C.In the reading-room,

(4+—)

.How long hasn’t Mr. Brown written 1o his wife?

A, For ene month. B. For two months.

.How often does Mabel watch TV?

A Twice a week. B.Three times a week.
What book has Kate lent to Henry?
A. A book on music. B. A book on Chinese.

.Who' s found the dictionary for Ann?

A . Her head teacher. B.One of her friends.

- 11 =
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C. In September.

C.§ 2.

C.In the aftemoon.

C. For half a vear.

C. Four times a week .

C. A book on science.

C. Her brother.
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{ . When will they go swimming?
A Today. B . Tomorrow. C.Not known.
{ }2. What does the man mean?

ATt will take him a long time to help the woman .
B.He can help her for a while.
C. Tt won'1 take a long time for him to help her.
( 13. Where is the woman going now”
A.To school.
B.To the shop.
C.To her friend" s house.
( 4. What does the man mean?
A.They are going to England for a vacation.
B. The woman does nol need to study now.

€. The wonian should nol worry about her vacation .

= Fr—EBxE, mEE &,

( }1. What does Jim want to do?
A . He wants to mend his shoes.
B.He wants to do some washing.

C.He wants to buy some new shoes.

{ 12. What colour shoes does he like best?
A.Blue. B.Green. C. White.
( )3. When do they decide to go shopping?

A. On Saturday moming.
B. On Saturday afllernoon.

C.On Sunday moming.

=
{ }1. Where does the man want to go?

A.To the museum. B.To the hospital . C.To the post affice.
{ }2. What is between the post office and the hospital 7

A.The bridge . B. The museuam, C. The book store.
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. Which bus can the man take il he goes to the museum?

A . The No.4 Bus. B.The No. 14 Bus.
(=)

.What is the man looking for?

A His camera. B. His umbreila.

. What colour is the man’s umbrella?

A White, B. Black.

.Has the man found his lost thing?

A.Yes, he has. B.No, he hasn't.
‘09

. What are the two speakers 1alking about”’

A . Their new teacher. B.The weather.
.Where = Mr. Brown mosily likely from?

A, England. B. Canada.

. What will the woman do when she sees Mr. Brown?
A. She will have a talk with him.

B.She will say hello to him,

C.She will ask where he is from.
A

. Where was the man during the last three weeks?
A In hospital . B.In his home.
. What happened to the man?

A . He knocked down the woman.

B. He was hurt by a motoreycle.

C.He fell off his bike.

. What was the problem with the man?
A His ami was hurt. B. His leg was hurt.
=

. What does the man suggest doing?
A. Going for a walk.

B. Walking the dog.

€. Going to the tea-house,

. What is the woman doing?

> 13 -
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~

~.'The No.40 Bus.

(. His bike.

C. Red.

~

3. We don't know,

-

~. English leaming.

(. Amenca.

C. At the factory.

(. His back was hurt.




